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Subtracting Mixed Numbers

Name:

Original Problem  Equivalent Fractions

If you need to borrow
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(simplify)

Find Least Common Multiple
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Subtracting Mixed Numbers
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Name: Basic Facts

Addition, Subtraction, Mulitplication and Division.

3-0= 4-1= 8§-2= 12+9=
17-10= 10+2= 45+5= 2-0=
13-9= 9+10= 9+1= 16 -8 =
2+1= 9x2= 0x9= 3x4=
4x5= 4-3= 2+1= 10-5=
10-1= 9+4= 11-3= 16-9=
9-3= 7+12 = 10+2= 5-3=
15+5= 15-7= 7+0= 8+1=
7-0= 45+ 5= 20-10= 9x0-=
0+8= 64 + 8 = 15 +5= 1x4=
15-8 = 14 +2= 3-0= 7x1=
7x0= 48 + 8 = 12-9= 3+10=
10+3= 1x6= 7+1= 1x8=
2+1= 17-10= 1+4= 21+3=
9-0= 3+0= 5x6 = 6x3=
6x9= 13-8= 6x4= 5+1=
9+6= 35+5= 54 +6 = 4x4=
4+4= 24 +8= 16-9= 6x5=
24 =3 = 6+3= 5+9= 1x1=
12-4 = 4+12= S+7= 19-9=
72+9= 5x6= 13-5= 81+9=
24 +8 = 1-0= 2+1= 3+3=
63+7= 14-4 = 9x5= 42 +7 =
12+12 = 4+2= 9x4= 4x7=
5+5= 16-9= 24 +6 = 28+7=

http://www.kidzone‘ws/math/basicfacts.asp?typezmix&num=1 00 2211013
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Name: Basic Facts

Addition, Subtraction, Mulitplication and Division.

5x2= 4x3= 7x4= 12-10 =
10-1= 4-4= 2+9= 7-3=
5x0= 10-0= 6+3= 9x9=
4+3= 10+5= 6+2= 36+7 =
6x7= 8§-5= 4+4= 6x7=
O0x3= 1M+7= 9x5= 9x 1=
7x5= 10-2= 9+4= 4x5=
6+9= 9x9= 10-2= 0+3=
8x2= 2+8= 7+8= 8+9=
21+3= 9-4= 9x1= 10-1=
S5+5= 3x8= 12+ 8= 12-8=
11-7= 2x5= 0+7= 9x4=
45 +9 = 11-3= 3x7= 14-5=
8x7= 4+8= 72+9= 12-9=
42 +7 = 2+0= 5x5= 9-3=
- 16-9= 1-7= S5x4= 4+1=
24 +4 = 30+5= 9x5= 3x3=
3+3= 16 +8 = 156-9= 5x4=
14 +2= 2+2= 4+8= Ox1=
12-4 = 24 +8 = 20+5= 19-9=
72+9= 4x6= 9+5= 64 + 8 =
1x7= 10-10= 1x9= 3+3=
54 +6 = 13-3= 8x5= 36 +6 =
1M+11= 1+1= 13-4 = 11-7=
9x 3= 14 -8= 2x5= 21+7=

http://www.kidzone.ws/math/basicfacts.asp?type=mix&num= 100 21217013



